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(#%T (RER) ]
TE®RHET ARC-40 =150 #3H | 132.0| m2 | 132.00
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AsBEtf L3R & B 0.2 t | 0.24
Ny R4 B A %) 3.0/ m3 [ 2.56
R4 TERE 4t L=5. 3km i ¥7) 3.0l m3 | 3.07
Biung B 3.0l m3 | 3.07
ERERE Eifean e+t 2.0l m3 | 2.01
TRERET ARC-40 t=150 [ 2%7) 2.0/ m2 | 2.00
LTRERET M-40 =120 [ 2787 2.0/ m2 | 2.00
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£ # # K T Sk B CE BE X BE R 2 R 2 £ #
(#mA~ R IB] | [~ R 18]
EHLE R As t=15enp T m | 35.00%2+0.90%2 71.80 71.80 |SHEEERUING
%ﬁ%lﬂitﬂ%ﬁ Co t=15emRl T m
| S 2% Wi T B A As,Con =10mpl T m2 | 0.90%35.00 31.50 31.50 |SHZERRIBEIFEIA
SRR HITEIA As,Con =10cmi@%| m2
HRIEHITEA ) 0.28BH | m3 | (1.720-0.10)%0.90%35.00 51.03 51.03  |HEMIEHITEA
HAIEREL 11 0.28BH | m3 | (1.300%0.90-0.011-0.000)%3500  40.57 4057 |[HHERL LR
TE®BRET ARC-40(RC) t=20cm| m | 0.90%35.00 31.50 3150 |TFERHET
TERET ARC-40(RC)  t=15cm| m2 TEBRBET t=15cm
LTRERET M-40 t=12cm| m2 LTEBRET t=12cm
LERET M-40 t=17cm| m2 | 0.90%35.00 31.50
REIET QQFHIEAs t=3cm | m2 REIET  t=3cm
R#EIRT @HIEAs t=5cm | m2 | 0.90%35.00 31.50 31.50 |{R{EIRT
7% 1 E - 05 MHE 5.3km | m3 | BEMRIEHI*1.2 61.24 61.24 |F&1Eifk- 0 5.3km
ERAsILEE T 2tE km | m FERAsILEET
AsTRiE 4E 6.5km | m3 | 31.50%0.10 3.15 3.15  |As#EHE  6.5km
CostiEif 4t 6.5km | m3
|AsBE#f 012 X235 Astl |t | 3.15%235 7.40 740  |AsEEHALER
CoBE#t L1 x2.35 Cotf | t
BEESMARTEBET BEESMEAR XRK20m m 35.00 3500 |[EESMEIRTET
BZEMARLET BEMEAR XRK25m m
BESEHXET TRIE  20mHUTF m 35.00 3500 [EELERXHET |
BESRAXRT XIR2E% 35mUTF| m
(€3 1:D) | [##18]
EHLE R As =15 | m | (35.00+0.60)%2.00+4.00%2.00 79.20 79.20 |SHEEERUING
%ﬁ%k&tﬂ&ﬁ Co t=15emRL ) m
O LA INELGH t=3cm | m
BRE LA INEIETEIAE t=5cm | m2
SEERRIEHITEA As,Con t=1oemet T, m2 | (35.00+0.60)*4.00 142.40 142.40  |SHEERRIEAITEA
SRR IR HITEA As,Con t=10em#@x| m2
TREEIE M-25 m2_| (35.00+0.60)%4.00 142.40 14240 | RREZEIE
AsTRE 4E 6.5km | m2 | 142.40%0.10-31.50%(0.10-0.05) 12.67 12.67 |AssXiEifk  6.5km
ASTEN  UIH] 4t | m2
|Cons & iy HE | m2
AsEEH LI x2.35 Ast t | 12.67%2.35 29.77 2077 |AsEEMALIE
CoBE#t L1 %x2.35 Colt t
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[fREI~{R#EIA]
As isenpl T m | 45.00%2+1.60%2 93.20 | 75.00%2+0.80%2 151.60 244.80  |SHEERR LMY
Co t=15emEAF|  m
As,Con t=10mpl T m2 | 1.60%45.00 72.00 | 0.80%75.00 60.00 132.00  |EAZEhRIEAITEA
As,Con t=10emZ| M2
TR 0.28BH | m3 | (1.530-0.05)%1.60%45.00 106.56 | (1.230-0.05)%0.80%75.00 70.80 | (0.645-0.00)%0.60%22.80 8.82 186.18  |HEARIEHITEA
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= XIR1EK 20mEU T m 45,00 4500 [BESESXET |
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As t=15mpl | m | (45.00+0.60)%2.00+2.20%2.00 95.60 | (75.00+0.60)%2.00+1.50%2.00 |  154.20 249.80  |4HEERR LMY
Co t:15cmu'|=§ m
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ERE LA INEIETEI t=5cm | m2
A ARIEAITEA As,Con =10mpl T m2 | (45.00+0.60)%2.20 100.32 | (75.00+0.60)*1.50 113.40 21372 |SAEEARIEHITEA
S AR AR AT A As,Con t=10m#Ex| M2
TREEIE M-25 m2 | (45.00+0.60)*2.20 100.32 | (75.00+0.60)*1.50 113.40 21372 |FEERIE
AsTE AE 6.5km | m2 | 100.32%0.05-72.00%(0.05-0.03) 3.58 | 113.40%0.05-60.00%(0.05-0.03) 4.47 8.05 |AsFiEHE  6.5km
IASEREr LAl 4tE | m2
|ConksE i HE | m2
AsEEMALE x2.35 AsiR t | 3.58%2.35 8.41 | 4.47%2.35 10.50 18.91 |AsEE# IR
CoBE#t L1 %x2.35 Colt t
REFREEET(RAUARK) InEh= =R T@15cm| m mEsEET <1t HE15cm
TGER=) AR, ER  18450m m
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T LB 05 4tE 53km = m3 | HEHTEHEI*1.2 3.07 307 | EHk-4045.3km
Asﬁﬁﬁﬁi" 4tEE 6.5km | m3 | 2.00%0.05 0.10 010 |As#:EMEk  6.5km
ComtiZ ik 4tE 6.5km | m3
AsEEM LT X 2.35 Ast® |t | 0.10%2.35 0.24 0.24 [AsEEinER
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